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SOAIZIE 0! XIAME s20] RA 2
cldl 200,000 1204 2 2,400
NHZ I EHSAHE 22| 228 2,400 2,400 0
201 et 3| 2,400 2,400
01 At22t2l] 2,400 2,400
OXME I EHASHHEY SIBHISH ==
*2 200,000 1242 2,400
ZOHA=SXAL2S R 1,991,9% 2,033,891 A41,8%
= 324,139
[Ea 1,617,575
= 50,282
Fojelsssia 24 1,486,516 1,529,516 /43,000
== 232,595
= 1,203,639
= 50,282
307 @I2t01 & 1,486,516 1,466,516 20,000
& 232,5%
Ea 1,203,639
= 50,282
10 AlISXAZEE 22X 1,486,516 1,466,516 20,000
OFofeI=X2 SAHl Xa
154,400,000 * 14 2 154,400
< 40,320
[Ea 94,080




SN OISR
M ZOHel SX SE(MIISK/HLHSKIH)
el ROfOI=XAIL S| (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 20,000
OXFoHel Ser=X2 29|
1,312,116,000& *1JH 2 1,312,116
= 192,275
2 1,089,559
= 30,282
OAIZEEONQ! AFSITHE DS AR
10,000,000 & *23] 20,000
ZojolSe=A2 S=2E 29| 50,000 50,000 0
307 212+01 A 50,000 50,000
10 Al S XA EEHER2IHIE X 50,000 50,000
OFMIEE=IR 225 24
50,000,000 *1JH 2 50,000
ZOHCISXIAE SAA S8 32,400 32,400 0
& 9,720
= 22,680
307 QIZ2t01 A 32,400 32,400 0
= 9,720
= 22,680
10 AISISXAIEHE2ZHIER 32,400 32,400 0
OBOHR! SRAL BAX SEag
1,080,000& 30X 32,400
& 9,720
= 22,680
HOHl3tESMEH 2 243,000 208,310 34,690
T 48,900
= 194,100
307 2I2+0l™ 243,000 208,310 34,690
= 48,900
= 194,100
10 IS SXAIEHE2ZHIEX 243,000 208,310 34,690
O=0ua 294 3,000,000& *17H 2~ 3,000
T 900
= 2,100
O=0S M 24|
240,000,000 * 171 2 240,000
T 48,000
= 192,000
ZOHQl MEO|SKIZMEH 29 115,000 152,885 AN37,885
= 23,000
= 92,000
307 2I2+01A 115,000 152,885 AN37,885
& 23,000
= 92,000




SN OISR
3 ZOH SX ST(A=X/FAAS
el ROfOI=XAIL S| (SHol: )
<A - FE - S9IEH) - HRA of v e HIDE2
10 AlRISXIAIEEE 22X 115,000 162,885 N37,885
O LE0ISNALEH 28
115,000,000 * 19 2 115,000
= 23,000
Ea 92,000
el ssdEIHE =29 64,000 59,700 4,300
== 9,600
o 54,400
307 212+01& 64,000 59,700 4,300
< 9,600
= 54,400
10 Al SXAEEHE2EHI 22X 64,000 59,700 4,300
OFe =sdaitd 29
64,000,000 * 100 2 64,000
= 9,600
Ea 54,400
SOHR! A== X HAUEHAIL SAHA SE 1,080 1,080 0
== 324
[ 756
307 212+01& 1,080 1,080 0
[ 324
T 756
10 AlRISTIAIEEE 22X 1,080 1,080 0
OBMWAHFAIL SAX =2
1,080,000 1 1,080
= 324
[Ea 756
AME0HS HOAIE X2AME 23 71,945 65,445 6,500
s 14,389
s 57,556
NM 0! HoAAIE X2HE 2S 71,945 65,445 6,500
[ 14,389
Ea 57,556
307 elztol & 71,945 65,445 6,500
== 14,389
= 57,556
10 Al SXAAIEEHE2EHI2x 71,945 65,445 6,500
OFuEHASI =X HE
71,945,000 * 100 £ 71,945
= 14,389
o 57,5%
S X AG (A= XN /FHAHEXR) 495,341 649,750 A154,400
3%4,273

Mo

49,284

—




SN OISR D
A 2SN AG (AEI=X/FHAHEXR)
=5 E=AlEAE (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 51,784
S A2A 495,341 649,750 154,400
= 3%4,273
= 49,284
= 51,784
S NEAMS 493,341 644,750 A151,409
= 3%4,273
< 49,284
s 49,784
301 EtE NS 493,341 644,750 151,409
= 3%4,273
== 49,284
[Ea 49,784
01 Al 2E A S(SREXME) 492,841 643,750 A150,909
OAS=X KA
492,841,000 1 492,841
= 3%4,273
== 49,284
o 49,284
14 JIEt2d= 500 1,000 A500
ORIt M NE =
50,000& %10 500
Hef Ak AHItodll X3 2,000 5,000 /3,000
301 eEtE N = 2,000 2,000 0
03 A2 H A0S (XILTHH) 2,000 2,000 0
O#2ixt AJN0IH| LA
50,0003 »40H 2,000
MNASE d2otd N (MSXOIZdEL2E) 12,227,457 12,533,980 A306,523
= 10,180,229
Xl 156,288
) 79,000
& 1,239,481
= 540,459
= 32,000
MNASS JIZdeg2d 10,076,192 10,229,392 /153,200
= 8,792,565
N 61,067
< 1,101,534
s 89,026
= 32,000
SEEA XNE MHIA 2,700 2,700
201 et 3| 2,700 2,700
02 s3=ghl 2,700 2,700




SN OISR
M MASE MEOHE XA (MBS /DI ZMESE)
o NASSE JzdEed EEREE)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Oxtg ==l 1,500,000 *1CH 1,500
Oxtg= Al 2teltl 1,200,000 *1CH 1,200
F A Sl (XHA) 3,267 3,267 0
201 L2 | 3,267 3,267
01 At 22|l 840 840
OMASHANE(=2A, XHa9) E28
o 60,0003 %7l 2 +23 840
02 E2324H| 2,427 2,427 0
Od=e2 M LER3 120,000& 14 120
Odi=ex eJBIRH &5 23 2,307
— Yot H 1,260,000 14 1,260
—sJ|IsH 1,047,000& 14 1,047
MASO 9,745,855 9,891,250 A 145,395
= 8,662,982
= 1,082,873
301 LetENEZ 9,745,855 9,891,250 A 145,395
= 8,662,982
= 1,082,873
01 A BEAHZ(RREETHA) 9,745,855 9,891,250 A 145,395
OF.VI= 9,745,855,000& 9,745,855
= 8,662,982
= 1,082,873
ME= =1 13,557 14,253 A6
308 AXIEHMSOIN 13,557 14,253 ANB%
08 WFI|ZUHSE = 13,557 14,253 A6
Ouss=H = RE= 13,557,000 13,557
oiah, ZEM=EN 64,479 73,750 A9,271
= 51,583
= 6,448
= 6,448
301 LBENF 64,479 73,750 A9,271
= 51,583
= 6,448
= 6,448
01 A 2&AH 2 ([ REETR) 64,479 73,750 A9,271
Odidt, ZH=0 64,479,000& 1 64,479
= 51,583
& 6,448
i 6,448
e MASFE 22888 X 60,000 60,000
301 LEBNEF 60,000 60,000
02 NBIEZESGFS(HAAS, KLTHA) 60,000 60,000




SN OISR
M NASES Mol NJ(MIASX/OIZNEEH)
o NASSE JzdEed (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Otz MASF0 ALZE =X
60,000,000& * 1= 60,000
A2l MR A A (22 S22l AL 108,334 106,172 2,162
N 61,067
= 12,213
s 3,004
= 32,000
101 e124d| 85,434 84,512 922
N 42,747
= 8,550
o 2,137
= 32,000
03 SR (RINHA) 222+ 85,434 84,512 922
ORII=3= {0 RPN el Fals]
3,559, 7502 «2H « 122 85,434
N 42,747
& 8,550
s 2,137
= 32,000
WM HSEE=S 22,900 21,660 1,240
N 18,320
=S 3,663
s 917
M BRA(RIAHY) 22N BEERE=s S 22,900 21,660 1,240
Ool2B0IRRA PEE PE2 U GRS
o €= 954, 1602 x2H « 12 22,900
N 18,320
= 3,663
o 917
NASES =201 Sl 78,000 78,000 0
= 78,000
301 LeEN= 78,000 78,000 0
= 78,000
01 A2 HSHS(RNEERTHE) 78,000 78,000 0
OJIZMEBILTT 20l ety
78,000,003 x1 78,000
= 78,000
NASE Mg X2 1,637,464 1,787,617 180,153
= 1,380, 164
Xl 11,109
== 76,749
[Ea 169,442
A2 E A 150,000 185,500 25,500
= 135,000

_21_




2A:
X XH -
o e

=aak

[ (AMEISX /I ZMEEE)

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

A H

4,500
10,500

101 e124d|

HH W

150,000
135,000
4,500
10,500

155,500

25,500

04 JIZtHN2Z2 X S8+

OXE2ZAIY o2
150,000,000 *1=

HH W

150,000

150,000
135,000
4,500
10,500

155,500

25,500

HH W

3,000
2,700

210

3,000

MW

3,000
2,700

210

3,000

01 AF22t2ltl

OXEZZAIY 2|
3,000,000& 1=

MW

3,000

3,000
2,700

210

3,000

K Atell2tel

fal

UMY

15,870
11,109
1,587
3,174

36,476

N20,606

307 212+01™

bl

M H

15,870
11,109
1,587
3,174

36,476

A20,606

10 Al SXAAEEHE 22X

ORXH Atefl 228l 15,870,000 x 1

bl

A H

15,870
15,870
11,109
1,587
3,174

36,476

A20,606

P
o
>
{0
[z
o
Ho
02
P}
{0

Mo

273,280
191,296
27,328
54,6%

262,284

10,9%




2A:
KEH
ool

2 (AEISX/ I ZMEEE)

I
>I

SN - FH.

SRA(3H) - ARAY -

Ofl &F2H

MEE
Ofl &k2h

307 212t01™

HH W

273,280
191,29%6
27,328
54,65

262,284

10 Al SXAIEHE 22

OXISIt2HHE 24|

ES

273,280,000& x 14

HH W

273,280

273,280
191,2%6
27,328
54,656

262,284

10,9%

a

ENNES f

g
4>
0.

A

6,480
1,944
4,536

6,480

307 212t01™

M

6,480
1,944
4,536

10 A= XIAIE &
OXNSXEHE SALL S8

6,480,000& 14

M

6,480

6,480
1,944
4,536

HoH W

,057,506

951,756
31,725
74,025

1,141,160

83,654

307 212+01&

MW

,057,506

951,756
31,725
74,025

1,141,160

A\83,654

05 git?(& =

OXg2ZAE

r
Q0
Jo
oy

=)
N

1,057,506,000& 14

MW

,057,506

,057,506

951,75
31,725
74,025

1,141,160

A83,654

MW

3,600
3,240
108
252

14,891

A11,291

307 212+01™

Mo W

3,600
3,240
108
252

14,891

11,291

11 AR S XA 2 X

3,600

14,891

A11,291

_23_




FA F2US
M HASE MBOIE KA (MBS IZMEDE)
=@l MASS UHENE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 M=HZH 3,600,000& 1 3,600
= 3,240
== 108
[Ea 252
SIYN=AHZ2 24,000 11,706 12,294
= 21,600
== 720
[Ea 1,680
307 212+01& 24,000 11,706 12,294
= 21,600
= 720
o 1,680
11 AMISXAIEEX 24,000 11,706 12,294
O3 LM =H %2 24,000,000& *1 24,000
= 21,600
= 720
Ea 1,680
HANWLMEAHZH(XHARI0IGH) 54,000 109,306 55,306
= 48,600
= 1,620
Ea 3,780
307 gl2to| & 54,000 109,306 A\B5,306
= 48,600
= 1,620
= 3,780
11 AMEISXAEEXS 54,000 109,306 55,306
OFAUL NS AHZH (R 2015H)
54,000,000& * 1 54,000
= 48,600
= 1,620
= 3,780
HEUWLXMSH IR ZD0) 24,000 43,205 A19,205
= 21,600
S 720
= 1,680
307 elztol & 24,000 43,205 219,206
= 21,600
S 720
[Ea 1,680
11 AMEISXAEEES 24,000 43,205 A19,206
OFAULNSAZH(R &A= 1)
24,000,000&*14 24,000
= 21,600

_24_




2A: F0l

=
3 ﬂi%% HEOHY X (MSX /D ZH82E)
gelr NASS Mg XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 720
s 1,680
AE3XE2 Ns - 2 4,858 0 4,858
= 4,372
== 146
= 340
301 EtE NS 4,858 0 4,858
= 4,372
== 146
o 340
01 Al 2E A S(SRNEXMH) 4,858 0 4,858
ONELBNES N2 - 2l
4,858,000~ 14 4,858
= 4,372
== 146
o 340
Kt Arell2tel A K13 20,870 0 20,870
= 6,261
= 14,609
307 elztol & 20,870 0 20,870
= 6,261
[Ea 14,609
10 Al SAAEEHE 22X 20,870 0 20,870
OXtgAtedi2tel el 2|
15,870,000& 1 15,870
s 4,761
s 11,109
OXtetAte el 23|
5,000,000&*1H 5,000
= 1,500
= 3,500
gl X1 513,801 516,971 A3,170
= 7,500
N 84,112
Il 79,000
= 61,198
[Ea 281,991
SIY=A A2 29 45,000 45,000 0
201 er23y| 45,000 45,000
01 AtR2t2|HI 45,000 45,000
OSIY=RIXHE =&
10,000,000& *1 10,000
O8H ot 2A=SIAMHIA =8
5,000,000 *79H 2 35,000

_25_




M Eel=x s

M NASES Mol NJ(MISX/OIZEEH)

ol Qe XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSARISX JERAHMNS 15,000 15,000 0

= 7,500
== 2,250
[Ea 5,250
201 =3 10,000 10,000 0
= 5,000
=S 1,500
s 3,500
01 At 22|l 10,000 10,000 0
OAtdi2te| 24| 10,000,000& *1 10,000
= 5,000
= 1,500
[Ea 3,500
301 LEtE NS 5,000 5,000 0
= 2,500
= 750
Ea 1,750
01 Al EE A S (2 RDEEA) 5,000 5,000 0
OAtell2tel X1l 5,000,000 1 5,000
= 2,500
= 750
= 1,780
0Pt SXAEIA X2 2,000 3,200 1,200
201 er=2 3| 2,000 3,200 1,200
02 S3=gHl 2,000 3,200 21,200
OROPIE =2XTY SR
1,000,000& 1= 1,000
OX0bts SXitg sl
1,000,000 1= 1,000
SHS XEY SEAMHIA XEH 69,057 69,057 0
N 48,340
< 2,071
= 18,646
201 er23| 34,529 34,529 0
N 24,170
== 1,036
o 9,323
01 At22t2lt] 34,529 34,529 0
OSHs XEE SEAMHIA 23|
34,529,000 14 34,529
N 24,170
== 1,036
o 9,323




FA F2US
M NASES Mol NJ(MISX/OIZEEH)
ol Qe XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 34,528 34,528 0
N 24,170
== 1,035
[Ea 9,323
01 AR 2EHSHS(RNEXRTHE) 34,528 34,528 0
OSoS AEY SEAUIA N
34,528,000 14 34,528
N 24,170
== 1,035
o 9,323
S% AFAI=SXE2H 24 32,200 32,200 0
201 er23| 7,000 7,000
01 At2t2ltl 7,000 7,000
O88 X212 g =24
1,000,000 72 Al 7,000
301 EtE2 NS 25,200 25,200
11 #AIAHIXIZ S 25,200 25,200
O88 XN9A=2E 2l 22 &4
70,0003 x120& +33] 25,200
SEAtAIZ2I AR 2124H]) 98,544 9%6.514 2,030
N 35,772
=S 3,577
s 59,195
101 ©1AH| 71,544 69,456 2,088
N 35,772
= 3,577
Ea 32,19%
03 SRH(RIH )22 U2+ 71,544 69,456 2,088
OSE At Z2IAL 12
71,544,000& 1 71,544
Xl 35,772
= 3,577
Ea 32,196
202 04| 3,000 4,000 21,000
01 2K 3,000 4,000 21,000
OSE A2l AL 20
100,0002 2 x153] 3,000
04 HSRESS 24,000 23,058 942
4 R (RIHA)22N BEERES S 24,000 23,058 942
OSSAtdIZelA AlRlE2E R & EIXAES
S 1,000, 000& 2+ 1200 & 24,000
LeSUIHZA SIDISH 24 171,000 213,000 242,000
= 51,300
o 119,700
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SN OISR
M NASES Mol NJ(MISX/OIZEEH)
ol Qe XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 171,000 213,000 42,000
= 51,300
= 119,700
01 Al EE A2 (2RNEXMR) 171,000 213,000 242,000
SOUSUBMZA SXIISH ST
171,000,000 * 1= 171,000
=S 51,300
s 119,700
LelsUiZAL SXDISH 2E(=5dI12) 79,000 43,000 36,000
7l 79,000
301 EtE2 NS 79,000 43,000 36,000
Jl 79,000
01 A2 HSHS(RDNEERTH) 79,000 43,000 36,000
OSLRASHHZAL ZXIISH =AII2AY
79,000,000 x1 79,000
Jl 79,000
== 280 XNE A 2,000 0 2,000
= 2,000
201 et 3| 2,000 0 2,000
== 2,000
01 At2teltl 2,000 0 2,000
0258 S0 UM 29
2,000,000& %1 2,000
=S 2,000
TR B2 SH AN = X1/ AFSI S X Bt 389,388 372,144 17,244
= 34,374
= 11,423
Ea 310,910
= 32,681
EEAEE 389,388 372,144 17,244
= 34,374
== 11,423
o 310,910
= 32,681
KR SAHE 2L(1248]) 89,319 82,414 6,905
= 33,319
o 49,319
= 6.681
101 @124H| 73,319 68,414 4,905
= 33,319
o 33,319
= 6,681
03 SR (RINHA) 222 40,000 35,180 4,820
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SN OISR D
3 FOUXXI|HZH ARSI/ A2l =X 2B
ol NESARE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEENEGTNERET
40,000,003 *1& 40,000
= 16,660
Ea 16,659
= 6,681
M OIRINZZE2NSE S 33,319 33,234 85
OXHESAL 2LIUIOIE IAHI(D12EA)
33,319,000 x1H 33,319
= 16,659
o 16,660
202 04| 2,000 2,000
01 201 2,000 2,000
OXRIZAL BCIUIOIEN 2RO
2,000,000 1= 2,000
04 HSRESS 14,000 14,000
04 SR (RIHA)22N BE=RES S 14,000 14,000
OXHASAH 2OUI0IH Atal2EE * &1
HE3 S 14,000, 00021%123 14,000
RZAIEH 29 B8H2E) 15,413 16,512 A1,099
< 4,623
2 10,790
201 2= 11,413 12,512 1,099
[ 3,423
Ea 7,990
01 At2t2ltl 11,413 12,512 1,099
OXESAEH 28 2d3HEX)
11,413,000 x 1= 11,413
= 3,423
o 7,990
206 MH=H| 4,000 4,000 0
=S 1,200
s 2,800
01 M= HI 4,000 4,000 0
ASE, JISE A2 ANESAMAL X
4,000,000 » 1k Xl 4,000
< 1,200
s 2,800
NASAES 243t 76,990 78,070 /1,080
201 er2 3| 21,690 19,770 1,920
01 AtR2telHl 18,930 18,930 0
OXESA 243t E2=2S A
1,600,0002 %1 1,600
OXESA BEZAL =&
500,000 42| 2,000




SA FUS
3 FOUXXI|HZH ARSI/ A2l =X 2B
ol NESARE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONESAE HaZH % ADS 2
225,0002 %102 2,250
ORESMHE 2|
2,000,000 1= 2,000
Ost=THSAHIEH 2l
580,000 12 580
o087 4323 =& 228 ()
1,500,000 +7 0SS +18 10,500
02 S3=gHl 2,760 840 1,920
ONBZAE 2323
2,760,000& 1 2,760
206 M=l 15,000 15,000
01 M= H| 15,000 15,000
OsAEsXIE Mat
15,000,000 *13] 15,000
301 EtE N = 22,300 23,300 21,000
11 #AIMHIXIE S 14,300 15,300 1,000
OXESAHAF 2t583l & us 24
2,180,000& %1 2,180
OXEsSAEs Ui sS44I
5,000,000& 1 5,000
OXASAIEH A3 BH24
7,120,000 1= 7,120
14 JIEt 2 a3 8,000 8,000 0
OXESARE aHl 24
8,000,000 1 8,000
307 @I2t01 & 18,000 20,000 /2,000
04 QIZIHAIAIH E X 18,000 20,000 22,000
OXESAES X
18,000,000 *1 18,000
HesSAgs 24aH(ExX) 2,110 2,082 28
= 1,095
o 1,085
307 el2to| & 2,110 2,082 28
= 1,095
o 1,065
06 28= 2,110 2,082 28
OXESAA E8g XI&
2,110,000& 1= 2,110
= 1,085
[Ea 1,055
OIS=2= SAE 2g(2124H]) 128,715 116,225 12,490
101 @124H| 128,715 116,225 12,490
M ORINZZE2NSE S 128,715 116,225 12,490
O01s== =R0] 2124 128,715




= F
B3 Z0IRA | B SH MEIZ I/ AFS =X )
9l ARZARE

RN - I BRA(E) - HRA - BES of v A
—JlZ2=s 10,0302 x4 #BA| 242552 81,845
—F=5=4 80,2403 x4 »533] 17,011
—ME2EE 240,000 x4H 120023 11,520
—SEFOHI 500,000& x4 H*22] 4,000
— 210t Al 80, 2402142 * 102 3,210
~S MRS EFOY
37,5003 x4 &« 100 & 1,500
—&E&= 80,2403 4 302 9,629
ols==s SMH 29 16,841 16,841
201 2= 16,841 16,841
01 AtR2telbl 7,784 7,784
Olls==83 72¢ 200,000& x102] 2,000
O0ls==xtg Sl
%4, 000214363 3,384
O0lE=2 £20| 292 M
300,000& x4 #22 2,400
02 S3=2g4l 9,057 9,057
O0IS==2xtg 22 HaH|
1,560,000& 1= 1,560
Olls==2xg =&U
4,560,000 14 4,560
O0IS==Xte A2l
2,937,000 *1CH 2,937
FEH3 2 XA 60,000 60,000
< 6,800
s 27,200
= 26,000
307 212+01& 60,000 60,000
S 6,800
ia 27,200
= 26,000
10 MEISXAIEHE 22X 60,000 60,000
OdEZEWT 23H| A&
60,000,000 *1 60,000
S 6,800
a 27,200
= 26,000
SHOZHESM AR (AR =X/ AME =X L L) 10,000 10,000 0
SHe2AFANAH TS 10,000 10,000 0
Agdstus & ABAUE 24 10,000 10,000 0
201 er23 | 10,000 10,000 0
03 A2 I 10,000 10,000 0
Oggdatus & At AU 10,000
— LT 7,000,000 18] 7,000

_31_




2A:
KEH
ool
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